
Extension Unit (for D154/D155) 
(D377/D568/D665/D666/D667/D679) 

 



 

 

 

  1.Extension Unit 1 (for D154/D155) ........................   2 

  2.Extension Unit 2 (for D154/D155) ........................   4 

  Parts Index.............................................................   7 

Extension Unit (for D154/D155) 
(D377/D568/D665/D666/D667/D679) 

 
PARTS CATALOG 

 
This catalog gives the numbers and names of parts on this machine. 

 
CONTENTS 

December 7, 2011 



2 

 

1.Extension Unit 1 (for D154/D155) 

Browser Unit Type D (D377-17)

10

VM Card Type M (D568-01)

13

IEEE802.11a/g Interface Unit Type J

103

Printer Option Type W7140en (D665-17)

Scanner Option Type W7140en (D666-17)

Gigabit Ethernet TypeB (D377-21)

IEEE 1284 Interface Board Type A

(B679-17)

1 2 3

4 5

6 101 102

8

7

11

12 11

102

9

(D377-01)

11

 



3 

 1 D665 5017  SD-Card:PRN:EXP:Ass'y 1 

 2 D665 5217  SD-Card:NTL:EXP:Ass'y 1 

 3 B223 1531  Keytop:Printer:NA 1 

 3 B223 1537  Keytop:Printer:EU 1 

 4 D666 5017  SD-Card:SCN:BLG-C1:EXP:Ass'y 1 

 5 B223 1532  Keytop:Scanner:NA 1 

 5 B223 1538  Keytop:Scanner:EU 1 

 6 G178 6036  PCB:Gigaethernet:PCIE:Ass'y 1 

 7 D377 5521  PCB:W-LAN1S:EXT:NA:Ass'y 1 

 8 D377 5698  Velcro Fastener:Cover:Antenna:250 2 

 9 G178 6072  PCB:PC4200:RAWCARD-A:1GB 1 

 10 D377 5008  SD-Card - Browser Unit AA 1 

 11 B223 1533  Keytop:Function:NA 1 

 11 B223 1539  Keytop:Function:EU 1 

 12 D568 5001  SD-Card:VM:EXP:Ass'y 1 

 13 B595 5670  PCB Ass'y - IEEE1284 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0454 3006Q Tapping Screw - M3x6  

 102 1607 1461  Ferrite Core  

 103 1105 0688  Clamp:KS-15  

 104 1607 2060  Ferrite Core:RFC-5 BK  

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

1.Extension Unit 1 (for D154/D155) 



4 

 

 

2.Extension Unit 2 (for D154/D155) 

3

2

1

4
5

101
6

7

101
101

101
10

11

8
9

102

102

105

12

101

101

101
13

14

104

103 15

16 17

USB2.0/SD Slot Type I (D667)

104

 



5 

 1 D422 1278  Cover:Guard:SD:EXP 1 

 2 D422 1275  Case:SD/USB:EXP:Ass'y 1 

 3 D422 1277  Panel:USB:EXP 1 

 4 D422 1281  Panel:SD:EXP 1 

 5 D422 1264  Lens:SD/USB 1 

 6 D422 5025  Shield Tape:CU10S:Front 1 

 7 D422 5701  PCB:Fusion:Ass'y 1 

 8 D422 1267  Bracket:PCB:Ass'y 1 

 9 D422 5020  Discharge Brush:12F:P025:Front 1 

 10 D422 1265  Shielding Plate:LED 1 

 11 D422 5030  Gasket:65TSV:Front 1 

 12 D422 5052  Spring Plate:Base 1 

 13 D422 1280  Bracket:SD/USB:Main:EXP 1 

 14 D667 1284  Bracket:Fusion 1 

 15 B825 5500  Cable:KY-AMMINIBW-2.5M-2FC 1 

 16 D422 5108  Decal:SD-Card:Operate:EXP 1 

 17 D422 5112  Decal:SD/USB:EXP 1 

 

 

 

 

 101 0353 0060N Bind Screw - M3x6  

 102 0450 3010N Tapping Screw - M3x10  

 103 1105 0702  Clamp:LWC-3AB  

 104 0450 3008N Tapping Screw - M3x8  

 105 0454 3006Q Tapping Screw - M3x6  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

2.Extension Unit 2 (for D154/D155) 



 

 

Parts Index 



8 

D665 5017  SD-Card:PRN:EXP:Ass'y   5 -   1 

D665 5217  SD-Card:NTL:EXP:Ass'y   5 -   2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B223 1531  Keytop:Printer:NA   5 -   3 

B223 1532  Keytop:Scanner:NA   5 -   5 

B223 1533  Keytop:Function:NA   5 -  11 

B223 1537  Keytop:Printer:EU   5 -   3 

B223 1538  Keytop:Scanner:EU   5 -   5 

B223 1539  Keytop:Function:EU   5 -  11 

B595 5670  PCB Ass'y - IEEE1284   5 -  13 

B825 5500  Cable:KY-AMMINIBW-2.5M-2FC   7 -  15 

D377 5008  SD-Card - Browser Unit AA   5 -  10 

D377 5521  PCB:W-LAN1S:EXT:NA:Ass'y   5 -   7 

D377 5698  Velcro Fastener:Cover:Antenna:250   5 -   8 

D422 1264  Lens:SD/USB   7 -   5 

D422 1265  Shielding Plate:LED   7 -  10 

D422 1267  Bracket:PCB:Ass'y   7 -   8 

D422 1275  Case:SD/USB:EXP:Ass'y   7 -   2 

D422 1277  Panel:USB:EXP   7 -   3 

D422 1278  Cover:Guard:SD:EXP   7 -   1 

D422 1280  Bracket:SD/USB:Main:EXP   7 -  13 

D422 1281  Panel:SD:EXP   7 -   4 

D422 5020  Discharge Brush:12F:P025:Front   7 -   9 

D422 5025  Shield Tape:CU10S:Front   7 -   6 

D422 5030  Gasket:65TSV:Front   7 -  11 

D422 5052  Spring Plate:Base   7 -  12 

D422 5108  Decal:SD-Card:Operate:EXP   7 -  16 

D422 5112  Decal:SD/USB:EXP   7 -  17 

D422 5701  PCB:Fusion:Ass'y   7 -   7 

D568 5001  SD-Card:VM:EXP:Ass'y   5 -  12 

D666 5017  SD-Card:SCN:BLG-C1:EXP:Ass'y   5 -   4 

D667 1284  Bracket:Fusion   7 -  14 

G178 6036  PCB:Gigaethernet:PCIE:Ass'y   5 -   6 

G178 6072  PCB:PC4200:RAWCARD-A:1GB   5 -   9 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 



9 

0353 0060N Bind Screw - M3x6   7 - 101 

0450 3008N Tapping Screw - M3x8   7 - 104 

0450 3010N Tapping Screw - M3x10   7 - 102 

0454 3006Q Tapping Screw - M3x6   5 - 101 

0454 3006Q Tapping Screw - M3x6   7 - 105 

1105 0688  Clamp:KS-15   5 - 103 

1105 0702  Clamp:LWC-3AB   7 - 103 

1607 1461  Ferrite Core   5 - 102 

1607 2060  Ferrite Core:RFC-5 BK   5 - 104 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 


	1.Extension Unit 1 (for D154/D155)
	2.Extension Unit 2 (for D154/D155)
	Parts Index

